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10 A solution of camphor in alcohol in a tube of 25 cm in length containing 50 cm3 of solution 

is found to rotate the plane of vibration of light 10o. What is the mass of camphor in unit 

volume of solution? The specific rotation of camphor is 66o per decimeter for unit 

concentration. Calculate the quantity of camphor in the tube contains solution. 

 

11 A length of 15 cm of 5% solution causes an optical rotation of 20o. How much length of a 

10% solution of the same substance will cause a rotation of 35o. 

 

12 A 20 cm column of cane sugar solution of concentration of 100gm/litre produces rotation of 

10.60. Find the purity of cane sugar. Given: Specific rotation of pure sugar is 66 dm-1 g-1 cm. 

 

13 (a) The refractive indices for quartz (wave length396.8nm), for left-and right-circularly 

polarize light, are nL=1.55821 and nR=1.55810, respectively? What is the specific rotation of 

quartz for this wave length? (b) What thickness of quartz is required to give an optical 

rotation of 10o for light of 396.8nm?  

 

 


